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Test:Physics

Attempt ......... questions

! In isolated system the momentum after _LL,/("‘/,/ ’L’5¢’/}wa/ﬂ
collision of two bodies: b _‘gt'(? »Y-a
a. Increase b.Constant "

i e bt

c. Decreases d. Zero

2 The formula of torque is: -‘LU)”/Gb/.f/B’
a.L=FxE b. E=Fx7t E=FxT b. L=FxE-a
c.t=FxL d.E=FxL E=FxI-d t=FxL -¢

> A point where an applied force causes the U’&ﬂd/f) w:’uJ//dl;z_lpd@/ Jg syl
system to move without rotation is called: -C-(}M g J = Lb/d—/ =S 7 2 3:
a. Center of gravity b. Center of mass JLST b d}’/_ﬂ/-”‘-a
d. Center of body  d. Center of axis fgb’.”/ﬁw-d ST al®

* Number of factors on which Torque depends: -‘Ldﬁﬁ’ﬁ d/ NFLd_wiis 1}14 Sk
W) b.3 a.2 b.3
c.4 d.5 c.4 d.5

> The center of gravity of irregular shape body L/((fl”'éu J&Z/JT/&W)'LL}{;U‘W-&
can be found with the help of R -4 k;
a.Gravity b. Meter rod P P -
c. Plumb line d. Screw gauage é/z/é -d e

6 The types of equilbrium are: uggnuf’l,%/wg,
a.3 b.2 a.3 b.2
(9 | d.4 c. 1 d4

7 The center of gravity of a uniferm solid Ic.t’n&g bjf/ﬁ'gjj;bu,a?’ rju{;z%{;
cylinder is at: /”bb'&:"%;&vj)éff"a
a.Middle point on its axis. T 5,
b. Center of the cylinder /‘-‘// Lk
c. The point of intersection of diagonals. L= ’{L"LK‘CU’/ Aol
d.Centre of mass. JLIT A~ d

8 The net torque acting on a rotating body with U,Jewu,,d_/f/ﬁ)é_yé,féw (i
uniform speed is: e
a. l b.2 2-b l-a
c.5 d.0 0-d 3-c
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